Q’; (1) Determine the magnitudes and directions of the currents
in each resistor shown in Fig. 19-48. The batteries bave emfs
of % = 9.0V and % = 120V and the resistors have
valuesof Ry, = 258, Ry = 180}, and R3 = 35 0.
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FIGURE 19-48
Problems 29 and 30.

.. (II) Repeat Problem 29, assuming each battery has
internal resistance r = 1.08
. (If) Calculate the currents in each resistor of Fig. 19-49.
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FIGURE 1949 Problem 31.

(II) (a) Determine the currents 1, L, and 5 n
Fig 19-50. Assume the internal resistance of each battery
is r= 1.0 (b) What is the terminal voltage of the

6.0-V battery?
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FIGURE 19-50
6.0 Y 13 :

Problems 32 and 33.

5. (1I1) What would the current [; be in Fig. 19-50 if the
12-0 resistor is shorted out? Let r = 1.0&L

. (H) Suppose two batteries, wzth unequal emfs of 2.00V
and 3.00 V, are connected as shown in Fig. 19-51. If each

i1s the voltage across the resistor R?

R=4.000
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Problem 34.

internal resistance is r = 0.100€}, and R = 4.00 0}, what -
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2, (I1) Determine the terminal voltage of each

Fig. 19-44 battey

r=1.060,
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FIGURE 19-44 Problem 24.

{5 J(I1) (a) What is the potential difference between points 3
and d in Fig. 1945 (same circuit as Fig. 19-13 Example 19-8)
and (b) what is the terminal voltace of each batteryi

FUGURE 18-45 Problem 25.

26 ¥(11) For the circuit shown in Fig 19—46, find the potentil
difference between points 2 and b. Fach resistor hs
R = 758 and each battery is L5 V.
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FIGURE 19-45 Problem 26.

N1} Determine the magnitudes and directions  of the
currents through R, and R; in Fig. 19-47.

FIGURE 19-47 Problems 27 and 28.

2 (I1) Repeat Problem 27, now assuming that each battery
has an internal resistance r = 1203, ‘
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